=4 Replaces Toro GrandStand Revolution

ﬁn Mower Parts
Mower with 48in Deck - Model 18562

" 48in Deck Parts

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




=4 Replaces Toro GrandStand Revolution

Hﬁn Mower Parts
Mower with 48in Deck - Model 18562
" 48in Deck Parts

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity
70 R114-1908-01 114-1908-01 Skid 1
71 R3231-22 900234P Bolt - Carriage 3/8-16 x 1 9
104-8301,
104-9301,

72 R104-8301 109-6658, Locknut - 3/8-16 Nylon Flanged 4
133-7570

75 R106-3246-01 106-3246-01 Deflector 1

76 R108-4052 108-4052 Spring - Torsion 1

77 R106-3248-03 106-3248-03 Strap - Discharge 1
01-157-0440,

78 R3231-4 01-173-0612, Bolt - Carriage 3/8-16 x 1-1/2 4
3231-4

79 R322-50 322-50 Bolt - Hx HD 5/16-18 x 7 1/2 1
104-8300,

80 R104-8300 104-8300, Locknut - 5/16-18 Flanged Y/Zinc 1
119-4041

85 R107-8541-01 107-8541-01 Baffle - Discharge 1

90 R137-4129 137-4129 Deck Strut Assy 1

91 R137-4108 137-4108 Rubber Bushing 4

92 R108-6544 108-6544 Spacer 4
3231-33, .

93 R3231-7 3731-7 Bolt - Carriage 3/8-16 x 2-1/4 4

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




